ITI Wireman 1st Year Module 1 Safety Practice and Hand Tools

(1). Which is the colour code of warning signs? | DI T T HIS IdTa-] Hbd Bl

87
(A) White symbol on blue background | :ﬂﬁWﬁqg{&[WWW
(B) White symbol on green background | @Wﬁ%@mmm

(C) Red border and cross bar, black symbol on white | <lci CICR GﬁT P dI¥,

& USHH TR HIall Ucildh

(D) Yellow background with black border and symbol | PTcH STeX 3R Uclih &
1Y il 37 bt gy YA

Correct Answer : D

(2). What is starving in extinguishing of fire? | 3Tl g‘éil:l A Terfdm %?

(A) Using water to cool the fire | &mﬁmmﬁ%muﬁwmvm
(B) Adding fuel to the fire | &mﬁémm

(C) Preventing oxygen supply to the fire | ST H 3o B S{Hﬁm

(D) Removing fuel element from the fire | GW@_SC%I:T SCARCANE]

Correct Answer : D

(3). Which tool is used for skinning the insulation of cables and cleaning the wire

surfaces? | haTI B SGARM B! G R IR ! TG B AT B & folg
oy SUHT HT SUTNT T STl &2

(A) Electrician’s knife | ﬁmﬁﬂ'@
(B) Round nose plier | X135 TN WRR




(C) Snip nose plier | 40 T @R
(D) Combination plier | PIFILA R

Correct Answer : A

(4). What is the name of the hammer? | E%WWW%?

(A) Claw hammer | ?ﬁﬁ_s'?ﬁg[

(B) Straight pein hammer | @?ﬂqga@
(C) Ball pein hammer | Wﬁqg?ﬁg{

(D) Cross pein hammer | w”mﬂ?‘s’zﬁ?ﬁ

Correct Answer : C

(5). Which colour back ground is used for warning signs? | SRICE] {-Ialvcl\I%ﬁ*l'Q

{37 Y gE YW &1 IUTNT foma ST 82
(A) Blue | Adl

(B) White | TWhg

(C) Green | &Yl

(D) Yellow | Gl

Correct Answer : D



(6). Which artificial respiration method is to be performed to the victim with

injuries on the chest and belly? | W@T%Wﬁ?@ﬁmﬂ%ﬂﬁﬁq@
P Y- {afe &t ST =nigu?

(A) Mouth to mouth method | gﬁ@gﬁﬁm
(B) Mouth to nose method | %@WWW

(C) Nelson’s arm lift back pressure method | A DI dig P! U D IR I3
D1 gard fafy

(D) Schafer’s method | QB DI Al

Correct Answer : C

(7). Which condition of the victim is referred as coma stage? | tﬁ%ﬁﬁm
fRUfar Y T 3T e ST 82

(A) Lie totally senseless and do not respond to calls | @W@W%
dIed § 3R BIdl BT oIdTd ol d &

(B) Unconscious but can respond to calls | a_Eﬂ'QTW HIid BT 9dTd ¢ Ihdl %

(C) Conscious but cannot respond to calls | Eﬁﬂﬁ%ﬁ% SANEIRSGIG] :Igbf%
Hohdl

(D) Breathing but cannot respond to calls | WW@%W CANKCARSEIE
TG UIEI§

Correct Answer : A

(8). Which screwdriver is used for driving star headed screw? | I AT UTH Y
TR RR arat U Srgfd & o st fasan sirar g2

(A) Connector screwdriver | Pae UdH Y



(B) Philips screw driver | W@@W
(C) Heavy-duty screwdriver | %ﬁ@ﬁﬁm

(D) Insulated screw driver | 5*{1@12‘_6 S ESIEEN

Correct Answer : B

(9). Which is the golden hour for the victim, injured on head with risk of dying? |

RR IR e @ iR TR & Sifad a1 Uifsd & forg ger THg SIF a1 g2

(A) First 15 minutes

(B) First 45 minutes
(C) First 60 minutes
(D) First 30 minutes

Correct Answer : D

(10). Which colour is used for mandatory signs? | W%%WWW
&1 JNT ST STt &2

(A) Yellow background with black border | W@Iﬂ%ﬂﬁltﬂ?ﬁ%“{m
(B) White symbol on blue background | :ﬂaWﬁW@WWW
(C) White symbol on green background | @Wﬁ%@wmm
(D) Black symbol on white background | W%H&[WWW

Correct Answer : B

(11). Which Personal Protective Equipment (PPE) is used for eye protection? |

DI T AT GRET IUBRUT (PPE) 7 YREM & foIT xaHTal fohar 82
(A) Helmet | %T’Iﬂ_c‘f



(B) Goggles | I

(C) Nose mask | WH’@ET
(D) Leather aprons | dHSI UYH

Correct Answer : B

(12). Which waste is used as a fuel for the Bio-gas power plant? | SHR Sl a1

7 foroTelt 93 & fod SeF o =0 & 9T fora ST g2
(A) Chemical waste | S(URTY BT
(B) Agricultural waste | $Y 3URIY

(C) Waste produced from the water source | UMl & Hid ¥ IdTicd 3Ry

(D) Waste produced by the men and animal | w GﬁTq'%IGﬁ% g1 3dTed

3y

Correct Answer : D

(13). What immediate action should be taken to rescue the victim if he is still in

contact with electrical power supply? | ‘Clﬁtﬁ%ﬁ 3t ﬁ-ﬁﬁ?ﬂﬁ GW{%%W
T g dl 3 S & ol deb Tl T HIRATS 1 ST NG T?

(A) Call someone for help to remove him from contact | ot Y gud 3 6CI:|

o oY Heg o ey i B
(B) Break the contact by switching off the power supply | IEEKI @HE%WW
(C) Pull or push him from the contact by hand | Bﬁgﬁi@wg@%ﬂ?ﬂ ey

(D) Inform your authority about this electric shock | @W%W%Eﬁﬁ
3T USRI b1 Jferd B

Correct Answer : B




(14). What is the name of the tool? | WWWW%?

(A) Bent snip | Sec &g
(B) Straight snip | é‘c’ﬁm
(C) Side cutting plier | WWW

(D) Diagonal cutting plier | ST e N TUarR

Correct Answer : B

(15). What is the use of bent snips? | WWWWTW%?
(A) To cut straight slot | @QWW%%’Q

(B) To cutinternal holes | 3dR® &g Preq %%‘I'Q

(C) To cut external curves | GIIENGI ¢§¢|cq %]%’I'Q

(D) To cut internal curves | NIRIEGE Obdrcbld:l %%‘I'Q

Correct Answer : D

(16). Which colour is used for information sign? | Wﬁ%%%ﬁmwm
TANT foh T ST g2

(A) White symbol on blue background | :ﬂﬁWﬁqg{&[WWW
(B) Yellow background with black border | W%ﬂméwﬂﬂ?ﬁqgﬂ{@r



(C) White symbol on green background | Eﬁ%@mmm
(D) Black symbol on white background | W%@WWW

Correct Answer : C

(17). What is the use of the carpenter tool? | 9 dc_%:f: SUD U] WB'CI@FTW%?

(A) Marking lines parallel to face | W%WWW
(B) Marking holes on wood | Flﬁ%@?ﬁq?rﬁ%”

(C) Check the thickness of wood | mﬁmﬁﬁh

(D) Check the squareness of wood | W%H”mﬁﬁlﬁ

Correct Answer : A

(18). Which type of notch is used for making a metal tray with 90° bend and an

inside flange? | 90°ﬁ3@?%ﬁ$ﬁﬁaﬁ WEW$WWW$
ra BT SUANT o STl g2

(A) Square notch | THTR A
(B) Slant notch | IEIEGIE]
(C) V notch | CIGIE]

(D) Straight notch | T A



Correct Answer : C

(19). Which one is the example for chemical hazard? | TS Fa¥ %%‘I'Q
P T IGTERUT 62

(A) Fatigue | YhIdq

(B) Bacteria | \_rﬁaTUl
(C) Corrosive | HRIRG
(D) Sickness | I

Correct Answer : C

(20). Which defect in the timber is caused to reduce it's strength? | ('10bs_nl A D

1Y B & BRI IS ASIgcl HH g1 STl 82
(A) Twisting | R

(B) Cracking | ShfdhiT

(C) irregularity | 3IfATfHddr

(D) Cupping | BT

Correct Answer : C

(21). Which tool is used for loosening and tightening of nuts and bolts? | 9C GﬁT

Siee Bl ST 3R HIA b 7T g IuH0T BT IUANT fhar ST 82

(A) Side cutting plier | T3S BT TR

(B) Round nose plier | X3S T WRR

(C) Double ended spanner | Sdd '\Jés {-EI"R

(D) Screw driver | PEET



Correct Answer : C

(22). How files are specified? | mﬁﬁﬁgwﬁ{%?
(A) By length | THITS GIT

(B) By thickness | IﬁE‘FQCT;{R‘[

() By width | ST GRT

(D) By total length with handle | %W%WQI *dN Q’iGII‘Qf dodh

Correct Answer : A

(23). How hacksaw blades are specified? | %w@—éﬁﬁﬁﬁgmﬁ%?
(A) Teeth per 10mm | jd ufd 10 mm
(B) Teeth per 15mm | &id 9fd 15 mm
(C) Teeth per 20mm | &id 9fd 20 mm

(D) Teeth per 25mm | &id 9fd 25 mm

Correct Answer : D

(24). Which type of caliper is used to draw parallel lines along the outer edges of

the materials? | wﬁﬁ%wﬂ%ﬁmw@rﬁ@aﬁ%mm
UBR P HATUR BT SUINT fobaT SiTdT g2

(A) Jenny caliper | @:ﬁw

(B) Outside caliper | T3CHISS HATIR
(C) Spring Joint caliper | @"TGUE_C'W
(D) Inside caliper | N FeftR

Correct Answer : A




(25). Which tool is used for marking and punching the center of pilot holes on

metals? | YT TR URITIE B¢ & g B! [igd B 3R 5% B & o g
JUBUT BT TN fhaT ST 87

(A) Rawl plug tool and bit | ﬁFTWTQF[ 3R fae
(B) Firmer chisel | ek fsora

(C) Trysquare | EIT‘%W

(D) Centre punch | % Ud

Correct Answer : D

(26). What is cleaning? | %rtm‘w%?
(A) Preventing the additional matter | Sifafvad uerd ot Aswum

(B) Removing unwanted matter from the environment | qgfaRur ¥ 3fgifed
uerdf ger g

(C) Keeping the things in systematic arrangement | ol &l FarUd HH H
XYl

(D) Keeping the working place in safe situation | BT P SR wmﬁ
Gl

Correct Answer : B

(27). What is the meaning of safety? | &I oI G{ﬁW%?

(A) The occupational hazards | 3| R PR R

(B) Provide safe work environment | ﬁTfE‘IT‘T T ATATERT UG B3

(C) Giving first aid treatment to the victim | tﬂ%ﬁﬁmmﬁrm SUdR
< ge



(D) The freedom (or) protection from harm, danger etc.. | I, T 31I|a |
TfeRT (am) JRaT .

Correct Answer : D

(28). What is the name of the safety signs? | ﬁT&ﬂﬁ%WWW%?

(A) Warning sign | a?l'la:ﬁﬁl_a’
(B) Information sign | Q?FIT%F&T
(C) Prohibition sign | ﬁﬁuﬁr@’
(D) Mandatory sign | a{ﬁam‘ﬁ‘a’

Correct Answer : B

(29). Which type of stake is used for sharp bends in sheet metal? | e Aca H

Mo A1s & fATe frd TR &1 fgiaR! &1 Ui foedn oirdi 62
(A) Hatchet stake | ¢ &H

(B) Square stake | TR Wb

(C) Bevel edge square stake | §dd USS WHIR WK Ph

(D) Blow horn stake | &) 6\I"'|r LTH

Correct Answer : A

(30). Which tool is used for tightening or loosening screws? | Ud g T g idl

B & ToTU fh SUBHRUT BT IUTNT fHaT ST 82




(A) Combination pliers | PHITTARA TR
(B) Electrician knife | sﬁazﬁmq%r@
(C) Screw driver | PG

(D) Long nose plier | dd T TR

Correct Answer : C

(31). What is the name of safety sign? | {R&l i?rs D[ AH K] %?

(A) Information sign | ﬁ?l:ﬂﬁl_&?
(B) Warning sign | ﬁam‘rﬁﬁa
(C) Prohibition sign | ﬁl@f‘?ﬂ%@'
(D) Mandatory sign | \Hﬁaﬁﬁla

Correct Answer : D

(32). Which tool is used for holding small objects in places where fingers can not

reach? | Toh ¥ SUBRUN DT IUTRT BIct 31 Dl I VI TR 3G o feT faban
(A) Neon tester | g e
(B) Long nose plier | NIRIGIRRTSIERY



(C) Screw driver | PG
(D) Combination plier | PHIFIARAE TR

Correct Answer : B

(33). Which category, the fire due to gas and Liquefied gas comes under? | ﬁ:f-

ot oft, 71 SR el SeaTfer 719 31 aoTg I 31T & d8d 31T 82
(A) Class’C’ fire
(B) Class A’ fire
(C) Class’D’ fire
(D) Class 'B’ fire

Correct Answer : A

(34). Which personal protective equipment is used for the protection from
fumes? | YU T YRE&T P foTT B T SAfGRITd YREM ISR BT IUTNT {1 STt
87

(A) Ear mask | ST &1 @ICT
(B) Nose mask | - T HEICT
(C) Apron | TUq

(D) Goggles | T=H

Correct Answer : B

(35). In which type of hazard ‘virus’ will belong? | 5T PR &1 TR aroRT’

aferd grT?
(A) Ergonomic | Q";h:n'm

(B) Biological hazard | Sifde WarT



(C) Physiological hazard | SR IPCZRE R
(D) Chemical hazard | I AD Wl

Correct Answer : B

(36). What is the use of this tool? | @@WWW%?

T .

Nt = —Ls

(A) Cutting and twisting the wire | TTIR Y BTeT 3R AISI
(B) Extracting nails from the wood | W@ﬁﬁﬁlﬁ:ﬂ

(C) Loosening and tightening the bolts and nuts | diee 3R T B AT HAT 3R
YT

(D) Holding the hot substances | TR T &) YROT BT

Correct Answer : B

(37). Which category of basic sign refers to avoid naked flame? | Wﬂﬁf{

I A 9 A W 9 & fore deffd sxar g?
(A) Warning signs | IdTa-l & dood

(B) Mandatory signs | A ddbd

(C) Information signs | I b Habvd

(D) Prohibition signs | oY Tad

Correct Answer : D




(38). What are the factors that must be present in combination of fire? | 3]

T H HIN[g 811 AT HRP a1 g ?

(A) Fuel, heat and hydrogen | ?f?F[ Tﬂﬁ\’»ﬁ?%ﬁ@ﬁ?

(B) Fuel, temperature, hydrogen | é?ﬂ RICEIGHE SISQ\NH
(C) Fuel, hydrogen, oxygen | g?Ff, BB@TYH, NIEE
(D) Fuel, heat and oxygen | ?f?F[ T 3R SHTRfe

Correct Answer : D

(39). What is the name of the safety sign? | Y&l H«a D HH I %?

(A) Prohibition sign | ﬁﬁﬂﬁlﬂ'
(B) Information sign | ﬂfFITﬁE’
(C) Warning sign | ﬁ?na‘rﬂﬁa
(D) Mandatory sign | &ﬁﬁﬁﬁlﬁ'

Correct Answer : A

(40). Which type of fire extinguisher is used for fire on electrical equipment? |

faroTefl o IUBHRON TR T ST g1 & o ford UapR o SRS o1 TRIRT
o SITeTT 82

(A) Foam extinguisher | T1H RIHS



(B) Water filled extinguisher | U1 HRT ULMHS
(C) Stored pressure type extinguisher | gUfed <a1d SURMHS
(D) Halon extinguisher | S@IT 3IURTHSD

Correct Answer : D

(41). What first aid is to be given to stop the bleeding of the victim? | tﬂ’%ﬂ%

3GRTTE D A+ b 17T DI A WA Fafdsedm & i anfge?

(A) Applying pressure over the injured portion | %ﬁ'c’aﬁ%@m?a‘@lﬁm
(B) Covering the wound portion by dressing | ‘aﬁaﬁ%@rﬁéﬁﬁmm
(C) Keep the injured portion upward | T’aﬁ?ﬁ]@[%@ﬁﬂﬁ 3R I

(D) Applying ointment | HXGH <]

Correct Answer : A

(42). What is the name of PPE? | TfIF PPE ST -ITH &1 7

(A) Apron | THT

(B) Leg guards | SRS
(C) Face shield | TGS Hdd
(D) Hand screen | 814 ThIH



Correct Answer : A

(43). Which purpose leather aprons are used as personal protective equipment?

| ST YRET FTIDHRU & =4 H fhd e Y IS ob THH BT IuANT foba
IGIKGE

(A) Ear protection | &TH P GRE&T
(B) Eye protection | =3 JR&T

(C) Body protection | RMRIRb Y&
(D) Face protection | I8X P YRE&f

Correct Answer : C

(44). What is the goal of the occupational health safety? | TR WY
R T T T 82

(A) To maintain discipline | 3{RITE §-1T 3@ & forg
(B) To co-operate with co-workers | W%WHWW%W

(C) To provide a safe work environment | T QRI&d BT ATATARUT UG B o

ferg

(D) To keep the work place neat and clean | BHTH B T DT TP 3R W5 WG

& ferg

Correct Answer : C

(45). Which file is used for sharpening the blunt teeth of a tenon saw? | LK
& SAC GIdll I avl R & (o8 [y Wred o1 SUANT fohdT ST 82(A) Square
file | APR BIST

(B) Triangular file | WW



(C) Half round file | &ﬂiﬂﬂﬁw
(D) Round file | Y3 WIgd

Correct Answer : B

(46). What is the name of the drilling machine? | Iglﬁ‘l n&ﬂquw%?

(A) Pillar drilling machine | W%‘%‘I’TW

(B) Radial drilling machine | %%Wrﬁ;'i%«mmﬂ?

(C) Electric hand drilling machine | méﬁwqﬁﬂq
(D) Sensitive bench drilling machine | @@Iﬁaé%rﬁ-{%ﬂmﬂq

Correct Answer : D

(47). What is the shape of prohibition signs? | ﬁﬁraﬁ@w 3THR B '5-\|C|| %?
(A) Triangular | [ECAIE]

(B) Square | ait

(C) Circular | ddlPIR



(D) Hexagon | ¥QHWl

Correct Answer : C

(48). Which type of occupational health hazard is cause for infection? | fg
WWWWWWWW%’P

(A) Physiological hazard | IRIRG @’

(B) Psychological hazard | J-I"I\Ialill‘lp'\'lcb G dR]
(C) Biological hazard | S G

(D) Electrical hazard | f&qu AR

Correct Answer : C

(49). What is the use of cross cut chisel? | WW@:ﬂWWW%?
(A) Cutting keyways | PIAdv DI BIeT

(B) Cutting curved grooves | W@ﬁ[w

(C) Squaring materials at corners | DI IR I Ah IR BT

(D) Removing metal after chain drilling | TR Iglﬁ‘l & dG ?ﬂﬂw

Correct Answer : A

(50). What purpose rough file is used? | mmémwwmmﬂ
far ST 8

(A) High degree finishing | 3= EDIREIGIEE
(B) Good finishing purpose | 3{<3T AR 3%53 %%‘I'Q
(C) Removing less metal and good finish | aa"rﬁaﬁm%%uw Yrid ecl-l



(D) Removing more quantity of metal quickly | %ﬂﬂﬁ 3Y® AET B Segt
[BEARE]

Correct Answer : D



